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2010年10月高等教育自学考试全国统一命题考试

基础英语试题

课程代码：00088

请将答案填答题纸相应位置上

一、词汇应用和语法结构（本大题共30小题，每小题1分，共30分）

（一）词汇应用（15分）

选择最佳答案完成句子。

1.Thecurrentinvestment_____inourcountryarefavorable,soalotofforeigninvestorshavecom

E.
A.conditions

B.weather
C.situation

D.state

2.I_____itforgrantedthatweshouldhaveapayrais

E.
A.take

B.think
C.make

D.ask

3.Thishousehas_____handsthreetimesthisyear.

A.shaken

B.changed
C.made

D.offered

4.Hecannot_____tobuysuchanexpensivecar.

A.spend

B.waste
C.afford

D.acquire

5.By_____oftaxation,wepayforthingsthatweneedjustasmuchasweneedsomethingtoeat.

A.means

B.mean
C.ways

D.method

6.Hetoldmethathehadbeenofferedawellpaid_____abroa

D.
A.employment

B.work
C.service

D.job

7.Wehavetoraiseourpricesbecauseoftheincreaseinthecostof_____materials.

A.primitive

B.rough
C.original

D.raw

8.Violentprogramsontelevisionmayhaveabad_____onchildren.

A.affect

B.effort
C.effect

D.control

9.A_____istheplacewhereshipsfromothercountriescanunloadgoodsfortrade,storage,processing,ortransfertoanothership.

A.building

B.port
C.warehouse

D.storage

10.Anewsystemofqualitycontrolwas_____toimprovethefirm’sproducts.

A.invested

B.published
C.introduced

D.displayed

11.Ourmanagerspendsalarge_____oftimeeachdayonthetelephon

E.
A.amount

B.moment
C.period

D.number

12.Whentheexporterarrangesshipmentthroughaforwardingagent,theagent_____thewholetransaction.

A.handles

B.does
C.manages

D.makes

13.Ourincomecanonly_____ourexpenses,sowehavenoextramoneytohaveaholiday.

A.afford

B.spend
C.support

D.cover

14.Whenmakinganinvestment,youhavetotakealotoffactorsinto_____.

A.considering

B.account[本科目答案页面导航：http://zk.ikaoti.cn/zikao.htm]
C.accountant

D.count

15.Thedevelopmentofscienceandtechnology_____achangeinourlif

E.
A.broughtabout

B.broughtup
C.broughtforward

D.broughtout

(二)语法结构(15分)

选择最佳答案完成句子。
16.Thecityis_____mostdenselypopulatedinChina.[最新年份咨询qq593777558]
A.sixth

B.six
C.thesix

D.thesixth

17.It_____thatabusinessmanisonlyinterestedinmakingprofits.

A.isgenerallysupposed

B.generallysupposes

C.generallyissupposed

D.supposedgenerally

18.Thesestripes_____byacomputer.

A.canread

B.canberead

C.read

D.isread

19.Hedidn’tcomeback_____itwasdark.

A.until[[微信公众号：ikaoti]
B.that
C.assoonas

D.where

20.Weallknowautomaticmachinescannotdoall_____mandoes.

A.when

B.if
C.what

D.that

21.Thehouseisverynice_____.

A.living

B.live
C.tolive

D.tolivein

22.Whathelacksiscourage,_____?

A.isn’tit

B.isn’the
C.isit

D.ishe

23.Thedancerandteacherwho_____givingperformancenow_____mysister.

A.is,are

B.is,is
C.are,are

D.are,is

24.Ihaveneverseensuchaspelling,it_____amistak

E.
A.canbe

B.willbe
C.needbe

D.mustbe

25.Notuntiltheyearof1966_____madethecapitalofthisprovinc

E.
A.thecitywas

B.whenthecitywas

C.wasthecity

D.whenwasthecity

26.Thiscomputerizedsystemwillprobablysave_____ofthecheckoutclerk’stim

E.
A.asmuchas45percent

B.45percentasmuchas

C.asmuch45percentas

D.asmanyas45percent

27.Asfuelpricerose,buscompaniesraisedtheirfaresand_____.

A.sodidtheairlines

B.sotheairlinesdid[本科目答案页面导航：http://zk.ikaoti.cn/zikao.htm]
C.nordidtheairlines

D.northeairlinesdid

28.Britaintrades_____manyEuropeancountries.

A.in

B.with
C.at

D.on[[微信公众号：ikaoti]
29.Bytheendofthiscentury,airpollution_____aseriousproblemthatendangersthehealthofthehumanrac

E.
A.willhavebecome

B.becomes

C.willbecome

D.hasbecome

30.Itischeapertothrowthecarsawaythan_____them.[[微信公众号：ikaoti]
A.torepair

B.repair

C.repairing

D.repaired

二、改错(本大题共10小题，每小题1分，共10分)

下面句子中有A、

B.

C.D四个划底线部分，其中有一个是错误的，选出错误部分的字母，无需改正错误。

31.Whenoverall exportsexceedimports,acountrysaid tohavea trade surplus.

ABCD

32.Unemploymentis expected toaffectanestimatingtwentythousandpeoplethisyear,
AB

equivalent tosomethreepercentofthelaborforc

E.
CD

33.Thepoliceclaimthattheirrelationshipwith the publicaregettingbetter,butitisnot tru

E.
ABCD

34.All thepeoplegot offthetrainandwalkedtowardthestairslead tothestreet.
ABCD

35.Withouttaxation,itwould beimpossibletopaythesoldiersandpolicemenwhoprotectsus.

ABCD

36.Abankneed not keepitsexcess reservesinit,butcanusethembyitsdiscretion.
ABCD

37.Atthathourofthe morning,atraincame intothestationevery a few minutes.
ABCD

38.Athisopinion,successinlifedepends mainly onhowweget along withotherpeopl

E.
ABCD

39.Changesininvestmentspendingoftenseemtopivotal incausingupswings or downswingsin
ABCD

amoderneconomy.

40.Nearevery major cityintheworldprovidessomeformofpublic transportation.
ABCD

三、完形填空(本大题共15小题，每小题1分，共15分)

每空提供四个选择项，选择最佳答案填空。

InNewYork,thereisnowaschoolwithnodailylessons,noclassteachers...  41  aschoolbuilding!The‘school’isanewproject.Itiscalled‘City-as-School’andthenamemeansjustthat:thecityitselfistheplacewhere350students,betweentheagesof15and18,learntheirlessons.

Studentschoose  42  ofworkwhich  43  themandthentheyhelptodothatwork..Forinstance,onegirlspendsherweekintheofficesofaCongresswoman—anelectedofficial—helpingthepublic  44  problemssuchaspensions,housing,et

C.Thenshegoestohelpinatheatreforadayandshespendsonedayaweek  45  first-yearcoursesatcolleg

E.
City-as-Schoolissixyearsol

D.TheeducationsysteminNewYork  46  itnow,asanalternativetofinalyearsatschool.Butcanit  47  ordinarylessons?Well,studentshavetopassmathsandscienceexams  48  theyenterthe‘school’.Thesesubjectsarenoteasytoprovideforin‘City-as-School’.Teachersmonitortheprogressofthestudents.80%to85%ofthestudentsgotocollege(oruniversity,asitiscalledinBritain)aftertheirtimeat‘City-as-School’.The  49  rateishigh.Andthestudentsareenthusiastic  50  their‘school’.Theyliketheresponsibilityoftheirwork,andthe  51  ofpurposeitgivesthem.

InabigcitylikeNewYork,thereareenoughresourcesfora  52  likethis.ButinPhiladelphia,anotherlargetowninAmerica,asimilarschool  53  becausetherewasn’tenough  54  ofworkforthestudents.

Whenthestudentsleave‘City-as-School’,theydon’thaveanormalacademiceducation；buttheydoknow  55  aboutdifferentkindsofworkinthecity.

41.A.evennot

B.noteven

C.noeven

D.evenno

42.A.areas

B.regions

C.respects[最新年份咨询qq593777558]
D.aspects

43.A.interests

B.interest

C.interested

D.interesting

44.A.to

B.with

C.about

D.on

45.A.taking

B.totake

C.take

D.takes

46.A.admits

B.receives

C.accepts

D.agrees

47.A.supplement

B.takeplace

C.replace

D.takeplaceof

48.A.before

B.until

C.unless

D.after

49.A.successful

B.failure

C.success

D.successive

50.A.at

B.about

C.in

D.to

51.A.sense

B.sensibility

C.sensitivity

D.sensing

52.A.class

B.project

C.building

D.town

53.A.opened

B.closed

C.developed

D.boomed

54.A.range

B.lot

C.kind

D.variety

55.A.alot[最新年份咨询qq593777558]
B.alotof

C.lotsof

D.lot

四、阅读理解(本大题共10小题，每小题2分，共20分)[最新年份咨询qq593777558]
本部分有两篇短文，每篇短文后有五个问题，每个问题有四个供选择的答案。请选择一个最佳答案。

Passage1

Nowadays,astandardformeasuringpowerhaschange

D.Thesechangesforetellanewstandardformeasuringpower.Nolongerwillanation’spoliticalinfluencebebasedsolelyonthestrengthofitsmilitaryforces.Ofcourse,militaryeffectivenesswillremainaprimarymeasureofpower.Butpoliticalinfluenceisalsocloselytiedtoindustrialcompetitiveness.It’softensaidthatwithoutitsmilitarytheSovietUnionwouldreallybeathird-worldnation.Thenewstandardofpowerandinfluencethatisevolvingnowplacemoreemphasisontheabilityofacountrytocompeteeffectivelyintheeconomicmarketoftheworl

D.
Americamustrecognizethisnewcourseofevents.Oursuccessinshapingworldeventsoverthepast40yearshasbeenthedirectresultofourabilitytoadapttechnologyandtotakeadvantageofthecapabilitiesofourpeopleforthepurposeofmaintainingpeac

E.Ourindustrialprowess(威力）overmostofthisperiodwasunchallenge

D.Itisironicthatitisjustthisprowessthathasenabledothercountriestoprosperandinturntothreatenourindustrialleadership.

ThecompetitivenessofAmerica’sindustrialbaseisanissuebiggerthantheDepartmentofDefenseandisgoingtorequiretheeffortsofthemajorinstitutionalforcesinoursociety—government,industry,andeducation.ThatisnottosaythattheDefenseDepartmentwillnotbeastrongforceintheprocessbecausewewill.Butwesimplycannotbe,norshouldwebe,lookeduponbyothersasthesaviorofAmericanindustry.

56.Nowanation’spoliticalinfluencedependson_____.

A.thestrengthofitsmilitaryforces

B.itsabilitytocompeteindustry

C.economicmarkets

D.bothAandB

57.TheSovietUnionwasnotlistedasathirdworldnationjustbecauseof_____.

A.itspowerfulmilitaryforces

B.itsvastland

C.itsindustrialcompetitiveness

D.itscontributionstoworldpeace

58.Theauthorindicatesthat_____isthreateningAmericanpoliticalpower.

A.othercountries

B.thedecliningU.S.industrialbase

C.anewstandardformeasuringpower

D.lessadvancedtechnology

59.Americasucceededinshapingworldeventsoverthepast40yearsprobablybecauseof_____.

A.itsabilitytoadapttotechnology

B.itsabilitytotakeadvantageofthecapabilityofitspeople

C.itsabilitytocompeteintheworldmarket

D.bothAandB

60.Thepurposeofwritingthisarticleis_____.

A.todrawthereader’sattentiontoanewstandardformeasuringpower

B.todemonstrateAmericanpoliticalinfluenceintheworld

C.toemphasizethateffortsmustbemadetostrengthenthedecliningU.S.industrialbase

D.toshowAmericanindustrialprowess

Passage2

TelevisioncarriesmorenationaladvertisingthananyotherintheUnitedStates.ThesameistrueinsomesmallercountriessuchasSpainandPortugal,whereitistheonlymediumreachingageneralnationalaudienc

E.Inmanycountries—SwedenandDenmark,forexample,thestate-ownedtelevision,acceptsnoadvertising.Inmanyothercountriestheamountofcommercialtimeisextremelylimited,asinFrance,Germany,andItaly.Sovietstate-ownedtelevisionbeganacceptingalimitedamountofadvertisingin1988.

ThechiefreasonforthepopularityoftelevisionamongUnitedStatesadvertisersisthatitreachesavastnumberofpeopleatthesametim

E.Whileitcancostwellover100,000dollars,a30-secondcommercialonnetworktelevisioncanbeseenandheardbyasmanyas25millionviewers.Formanufacturerswhomustmakeprospectsawareoftheirproductsandconvincethemofitsbenefitsimmediately,thereisnothingasefficientastelevisionadvertising.

Becauseitemploysmotionaswellaswords,graphics,sound,andmusic,televisionisavaluablemediumforproductsthatlendthemselvestodemonstration.Noothermediumisaseffectiveinshowinghowquicklyanautomobilecanaccelerateorhowwellabrandofwristwatchwillstandupunderabuseandcontinuetorun.Similarly,itisanidealmediumforconveyingamoodoranemotionalbenefitforproductssuchaslong-distancetelephonecalls.

61.WhichmediumcarriesthemostnationaladvertisinginSpain?

A.Radio.

B.Newspaper.
C.Television.

D.Internet.

62.State-ownedtelevisionacceptsadsinthefollowingcountriesexcept_____.

A.Portugal

B.Sweden
C.France[最新年份咨询qq593777558]
D.Italy

63.Tomanufacturers,TVadvertisingisthemostefficientwaytopromotesalesbecause_____.

A.TVcanmakeadvertisersawareoftheirproducts

B.itcanconvincepeopleofthequalityoftheirproducts

C.TVcoversalargeaudienceatthesametime[最新年份咨询qq593777558]
D.itcanbeseenandheardbyover25millionlocalviewers[本科目答案页面导航：http://zk.ikaoti.cn/zikao.htm]
64.Theword“commercial”inthe2ndparagraphmeans_____.

A.advertisement

B.business
C.notice

D.motionpicture

65.Thewriterofthispassageis_____aboutthebenefitsofTVadvertising.

A.optimistic

B.unconcerned
C.enthusiastic

D.positive

五、单词或短语的英汉互译(本大题共10小题，每小题1分，共10分)

(一)将下列词语译成中文（5分）

66.betterqualityproductsatgoodvalues

67.anincometax

68.thesupplyanddemandapparatus

69.cableadrevenues

70.coinage

(二)将下列词语译成英文（5分）

71.无形贸易

72.纯自由贸易

73.资本与产出比率

74.批量生产

75.货币市场

六、英汉句子互译(本大题共4小题，共15分)

(一)将下列句子译成中文(8分)

76.ForeigncustomerspurchasedarisingproportionofJapanesegoodsbecausetheserepresentedgoodbuysintermsofpriceandquality.(4分)[最新年份咨询qq593777558]
77.Theypersuadethepurchasertobuysomethingforemotional,notrationalmotives.(4分)

(二)将下列句子译成英文(7分)

78.总的来说，“无形”贸易的收入超过“有形”贸易的差额。(4分)

79.他认为创新进步的引进和吸收是现代经济大波动的主要原因。(3分)
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